Math Review Worksheet

Scientific notation.

            a)         Multiply 4,000,000 times 2,000,000.                             Ans:  8E12         

                        Interpretation:  The answer  8,000,000,000,000  is too large to display on the calculator screen.   Therefore, the calculator automatically converts to scientific notation  [image: image1.wmf]•
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 which the calculator prints as 8E12.  Be sure to give the final answer in the form [image: image2.wmf]•
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, not in the form 8E12. 

b)        Calculate [image: image3.wmf]•
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using the [2nd]  [EE] button (located above the [7] button!).

            Type [8] [2nd] [EE] [15] [÷] [4] [2nd] [EE] [3] [ENTER]   
Ans:  2E12 or [image: image4.wmf]12
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.

            Notice that parentheses were not needed, since the numerator and denominator were entered as single numbers 8E15 and 4E3 respectively.

c)          Calculate.   6.25 x 1012 / 8.40 x 10-8                 
            Notice that the denominator exponent is a “negative” 8.

            Again notice that parentheses are not needed.

            Type [6.25] [2nd]  [EE]  [12]  [÷]  [8.40] [2nd] [EE]  [(-)]  [8]  [ENTER]    

Ans:  7.44047619E19, which should be written [image: image5.wmf]19
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d)         Calculate 9.24 x 109 x 2.03 x 10-3 / 5.75 x 10-8 x 6.42 x 109               

            In this example, the numerator and denominator contain more than one number, so play it safe and use parentheses around the entire numerator and parentheses around the entire denominator.  

                      Type: [(]  [9.24] [2nd] [EE]  [9]  [x] [2.03] [2nd] [EE] [(-)] [3] [)]       [÷]
          [(]  [5.75] [2nd] [EE]  [(-)]  [8]  [x]  [6.42] [2nd] [EE] [9]  [)] [ENTER]    

Ans:  50811.8651.  

Scientific Notation and Variable Worksheet

1. 8.9 x 10-3 x 93.24 x 10-7 =

2. 98.9 x 103 x 93.24 x 107 / 8.9 x 10-3 x 93.24 x 10-7 =

3. 8.9 x 10-3 / 93.24 x 10-7 =

4. 8.9 x 103 / 93.24 x 107 =
5. 58.9 x 10-98 x 93.24 x 1076 =

Solving Equations

1.  To solve an equation, you have to isolate the variable you’re solving for. By definition, the variable is then equal to everything on the other side of the equal sign. 

When manipulating equations, there are rules. Here’s the first and most fundamental: Whatever you do to one side of an equation, you must do to the other side. 

If you divide one side of an equation by 3, divide the other side by 3. If you take the square root of one side of an equation, take the square root of the other. 

By treating the two sides of the equation in the same way, you don’t change what the equation means. 

Next, you have to pay attention to order of operation.

Take, for instance, the equation 3x + 2 = 5. 

For example, you must subtract 2 from both sides first then divide by 3,

3x + 2 – 2 = 5 – 2
3x = 3
x = 1
Location. Location. Location. 

Isolating for x is all about where x is located. A variable in the numerator of a fraction is actually a pretty easy location to isolate. But if x is in the denominator of a fraction, things get more complicated.
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Start by subtracting the 3:

[image: image7.png]



But now you have to get the x out of the denominator, and the only way to do that is to multiply both sides of the equation by that denominator, x + 2:
[image: image8.png]1 =4(x+2)




Divide both sides by 4:
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Subtract 2 from each side:
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Solve for the variable in each of the following:

1. 4x – 32 = 56

2. x (8.9 x 103) + 98.9 x 103  = 93.24 x 107
3. (8.9 x 10-3)x - 93.24 x 10-7 = 58.9 x 10-98
4. 1 / (x +2) – 32 = 46

5. 1 / (x + 8.9 x 103) - 93.24 x 1076  = 93.24 x 107
